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Geometry Review: Packet #7 |

Topic #1: Area of Composite Figures & Shaded Regions

1. Find the total area. Round to the nearest hundredth.
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2. If the diameter of the urcle below is 28 meters, find the area of the shaded region. Round to the nearest

hundredth. 2%& 14\12 ~ 990
28 \,z Tz .
= £(9.9)(19.8) Ao =TT >
Ay z; ( 23 AZ - yI5.15 = 575 = 19002
= 196.0

Topic #2: Volume & Surface Area of 3D Figures

Find the volume and total surface area of each figure. Round to the hundredths when necessary.
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Topic #3: Composite Figures & Applications

11. Find the total Su'fgoz&r?a.'g?hﬁm . QA= 3TIv: - Ty (not including e base)

Cone: SA =24yl -Tr? (\no%mclmd'xng Hhe base)

Q= 2T * + Trd
o = 2T 167+ W92

@mm?

12. Acylindrial hole is cut through the cylinder below. The larger cylinder has a diameter of 14 mm and a
height of 25 mm. If the diameter of the hole is 10 mm, find the volume of the solid. r="1
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13. Cameron built a loading ramp for his moving truck. He plans to paint the ramp, excluding the base.

What is the area in which he will paint? 7
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Topic #4: Similar Solids
If two solids are similar, then they have the following ratios:
2.1.2 3,13
Scale Factor: _( ° b Surface Area: _ O ° lo Volume: _ O ° b

(where a and b represent linear measurements)

14. The prisms below are similar. Find the scale factor, surface area ratio, and volume ratio of the smaller
prism to the larger prism.
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Surface Area Ratio: Q.
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15. Pyramid A has a volume of 60 mm? and Pyramid |
B has a volume of 937.5 mm3. What is the ratio |
of their heights?
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16. Cone A has a surface area of 384 ft2 and Cone B
has a surface area of 96 ft2. What is the ratio of
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17. Cylinder A is similar to Cylinder B with a scale
factor of 3:7. If the surface area of Cylinder A
is 153 cm?, find the surface area of Cylinder B.
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18. Prism A is similar to Prism B with a scale factor
of 6:5. If the volume of Prism B is 875 m®, find
the volume of Prism A.

_?:_J_lg = ___>$_.
125 15
1256x = 139000

[x=1512]

Topic #s: Effects of Changing Dimensions

19. The volume of a prism is 373 ftd. Ifthe
dimensions are doubled, what will be the new
volume?
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20. The surface area of square pyramid is 1,089 in%
If the dimensions are multiplied by 1/3, what will
be the new surface area?
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21. How many times larger is the volume of a cone if the height is multiplied by 3?
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22. How many times smaller is the surface area of a sphere if the diameter is multipled by 1/4?
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